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5. This question booklet is divided into

two sections — Section-A and
Section-B.

there are
100 objective type questions, out
of which any 50 questions are to
be answered. If more than
50 questions are answered, then
only first 50 will be evaluated. Each
question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 30 short

answer type questions, ecach
carrying 2 marks, out of which any
15 questions are to be answered.
Apart from these, there are 8 long
answer type questions,
carrying S5 marks, out of which
any 4 questions are to be
answered.

each

Use of any electronic appliances i
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TvE - A / SECTION - A

TR W9 / Objective Type Questions
v wear 18 100 % & uRiF UvT & arer aw Rraeq Re e & frd @ o
gzt &1 o grT g7 T WE fwew w1 OMR iz v Rt w¥ et

50 gyt w1 3 1 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

50 quesﬁons.. 50x1=250

1 = yafme a% % g $ 7 FEd € ? ,
A) IEfme T2 g At wEfEE
€ FRmRwEtE (D) 38 @ wE T
What is a group of many indifference curves called ?
(A) Indifference bundle ° (B) Indifference map

{C) Indifference diagram (D) None of these
j" 2 T F W wE e e St IR 1 G9R EgiR WeH
| w1 &, ¥ HEadl @ ?
AA)  FARmE T B) TR g T
€ TR O) @3 @
The graphical representation of combination of two Agoods which

provide equal satisfaction to consumer is called

(A} Indifference curve - (B) Iso-utility curve
(C) Budget line (D) Both (A) and (B}
b;/”"’ FAftaH a9 ot dwia Sl @ w®m adt & 2
uA)” TR (B) ®EWH
c fex (D) wH @ PR T
What is the marginal rate of substitution of indifference curve ?
(A} Increasing (B} Decreasing *
(C)] Constant (D) None of these
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4. NIRRT % Teaw Ry WweR Yen st o @ e S R 2
(A) (B) e el
(©) a0 e} (D) v awd Tl
At the optimum point of consumer, what does the budget line do to
indifference curve ?

e i L i, e B T 0T T

(A) Cuts (B) Touches,
(€} Cuts two times (D} None of these

(A) TSR (B} - UTHH

(C) Swhw (D) o & i T

What is the slope of demand curve ? :

(A) Positive (B) Negative

' (C) Vertical (D} None of these
677 WW TEg B AN AW # iy % w0 @l 2
(a)  weh | ® =t

) Texa (D) w6 | ad -

What would happen to demand for normal goods with rise in
income ? | ‘

(A) Increase (B} Decrease
(C) Remain constant (D) All of these

7 st g Srew- s e o

@A) @[ (B) wwEAl HHeH
(C) I DI (A) I (B) TR |
What is the market demand curve of demand curves of dxffercnt :?
individuals ? ' |
(A) Sum (B) Horizontal summation
(C) Difference (D) Both {A) and (B)

g  aft wg & ol O IWW R A A RN A | e, | TR 2
) A) ey l=] ~(B) le,|=0

€C) le,l=== D) je;li<1
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If the demand curve for a good is vertical then what would be the
elasticity of demanded ?

A e, =1 B} e, |=0
€ le,|=w D) le,l<1
9. U W% uln 9% fw g W x-o14 N wewm & o5l ol H a= & =
AR ?
(A) le, =0 - B) e, |=1
€C) leyl=e D) |e;l<l

At the point where the straight line demand curve cuts the x-axis,
what is the value of elasticity of demand ?
A le; =0 B) le;|=1
(C) le;l=e D) le;l<l
10. WM 9% W GHIHW p-g=e Wﬁp‘:ﬁ, qnmaﬂtef@n%lsaﬁnam

&1 9T HTHR F 2 |

A TR amgwmas (B AR S

(C) e T (D) SR @

The equation of demand curve is p-g=e where p is price, g is
quantity and e is constant. What would be the shape of this

demand curve ?
(A) Downward sloping curve (B) Rectangular hyperbola

. © Straight line ' (D) Vertical line
\/M/  rferaen fal SeeA w2
A T w B) FEA =
€ mmwE By (4) 3k @) 3
What does the economy produce ?
(A) Goods (B}  Services
(C) Profit (D) = Both (A) and (B)
Y Wﬁuﬁwammmmmm%m
et sman 2 2
(A) Wi v B =y aefww

(C) g v (D) %H & % Tl
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15.

16.
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. : ' died under
Price determination and consumer behaviour 138 stud

which economics ?

(A) Macroeconomics

(B} Microeconomics

(C) International economics

(D) None of these _

7§ 1929 @ 1933 ¥ &9 T nat AR awEh & FFed T Y 2

(A) 8T B) &

(C) fen (D) el

Between the years 1929 and 1933, in every nth Americans
everrraeaneaa was unemployed.

(A) Second (B) Third

(C) Fourth (D) Fifth

Ioftard) 2o & Searen framrem fras g d @A 2 2
(A) TR B) TGl

) dfard) safiwt (D) T A wE A

In a capitalist economy the production activities are in the hands of
(A) Government

(B) Workers

(C) Capitalist entrepreneurs

(D) None of them

srefegaen H Iuvn gt ol fre e g R @ @ 2

(A) UEie & (B) TR &6

(C) ST &% (D) T & B T

In an economy decision regarding consumption is made by
(A) Household sector ~ (B) Government sector
{C) Business sector (D) None of these_

frafa & foreht gm g0 I

@A) Fdw @ s fom e @

@) fadw i fasa Rem o @
() 4oh 3n & i v s @
(D) TWamh
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In export by a country the goods

{A) are purchased from abroad

(B} are sold abroad

(C) capital is invited into the country

(D)  all of these

| T R P T S AT R AN FE E P

(a) & By ¢

€ ¥ D) ewf

The income of which factor of production is called profit ?

(A) Labour (B) Capital

(C) Land (D) Entrepreneur
mmﬁmm%mmaﬂmﬁmm
FA 8 ?

a) Tl 3w By faerfiE <u

(C) (a) 3R (B) qH D) T A Hi TE

In which country, besides capitalist sector the state also plays a

role in the economy ?

(A) Developed country (B) Developing country
(C}) Both (A) and (B) (D) None of these

| ag T S e v @ g T A, ¥ wEewd @ 2
a) meEd Ty By 3iftm ¥
() T#s g - (D) P I

What are the goods that are not destroyed by short term

consumption called ?
(A} Intermediate goods (B) Final goods

~ {C) Durable goods (D) Capital goods
A e A frm g R WM B IR R 2
(A)  3ifm T By~ Wi aeg
() ¢ arg (D) fewrs wg
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In the problem of double counting, which good i3 counted twice ?
(A)  Final good (B) Intermediate good
(C)  Capital good (D) Durable good
ST W g W % e &, @ e ety @ e ¥ 2
- ) EgeR B) ftmin
(Cy  anfegfd (D) w9 & N T

22,

23.

24.

When market supply is equal to market demand then this situation
is called

(A) Equilibrium (B) Excess demand

(C) Excess supply (D) None of these

forge =1 wom form wm w wm 2 0

(A} EHIftrER (B) wwIteRt wferequd

(C) srufusr (D} ol i

What kind of market is market for biscuits ?

(A) Monopoly (B) Monopolistic competition
(C)  Oligopoly (D)  Perfect competition ‘
#ﬁ@%m%@{mmﬁ(mﬁa&miﬁ(syw@?ﬁ?
(A) D>S B) D<sS |
(C) D=8 (D) T ¥ B T

At a price more than equilibrium price, what will be supply ( S)
compared to demand ( D) ?

(A) D=>3S (B) D<S

() D=8 (D)  None of these

fora feufa & wgem i@ aon o & afwds 6 R 990 2
(A) & gl 3% A e s @

(B) v qfd % Qi Rree s 2

(€) = gfd % W R %}

(D) &0 & w§ A& |

l

[£% ]
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In which situation is the change in equilibrium price and quantity
is in the same direction ? ”
(A) When demand curve shifts rightward
(B) When supply curve shifts rightward
(C) When supply curve shifts leftward
(D) None of these

mﬁwﬁ%ﬁmﬁﬁ%m%?

<o Ruifg S w1 (B)  Preom Fuffa S w1
(C) TgeH HHd H (D) w8 B T

Wheat sold at ration shop is an example of
(B) Miniml.im support price

(A) Ceiling price
(D) None of these

(C) Equilibrium price
ot 3w # g of afnina w3 T 2
s B rf-gr @ ARl W@ @
(B) v Bl wmr T i W

© e gha@a

D) i R g

When will the entry and
(A) When firms are earning supernormal profit

exit of firms in the market stop ?

(B} When the firms are earning normal profit
(C) When firms are experiencing loss

(D) None of these

N

.«/Qi)

(a) aftgfd i (B) arfepin Y

er” FEagdd (D) wEEHRTE

The minimum support pricc policy gives rise to which problem?

(A) Excess supply (B) Excess demand

(C) Low supply (D) None of these
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e wroR R i st o 2 B el €, 0 FE

(A)
(C)

Tty
FeqitreR

. (B) Tfuﬁ'mﬂf
(D) T & wg T

What is the market where both consumer and firms arc price
takers called ?

(A)  Monopoly (B) Perfect competition
(C)  Oligopoly (D) None of these

Q b fre s ¥ aom # frdw R & 2

(A) gt wfemife (B) USHIUR

(C) IR D) wH & w

Two sellers is a special case of which type of market ?
(A)  Perfect competition (B) Monopoly

(C)  Oligopoly | (D) None of these
TR vt fived wo Sem v R 2

(A) W Iy % H (B) AT T%g % FEO
(©) A I HHRO (D) T Y B TE@

For what reason does monopolistic competition arise ?
(A) Due to homogeneous good

(B) Due to non-homogeneous good

(C} Due to perfect substitute goods

(D) None of these

e 4 =\ darati $i Hoft d s & 2

(A) T TR (B) <

() ®ifam LBy T A e

Which of the following is under the category of services ?
(A) Canteen (B) Insurance

(C) Coaching (D)  All of these

e it 1 =i aRgAl w1 IuEA W w R 7

(A)  IATF B) wR

) faar BT TR

24/A/XII-5013-(a7/40
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Which of the following persons is producing goods ?

(A) Tcacher (B) Poet

(C) Sportsman (D) Weaver
33, ‘dhftg gamel o faf | g e

(A)  fedt s 6t Fhw aaen

@) fdht safes $t = T

(C) arfoaaEen $ Y guE

(D} W §

What is 'Allocation of limited resources' ?

(A) Central problem of a company

(B) Central problem of a person

(C} Central problem of economy

(D) All of these ,
34 Paifsa s amafEm R e ?

(A)  IEIeT AT (B) TR wmm
(C) wifee o | (D) i v
Which of the following is termed as economic cost ?
(A)  Production cost (B} Fixed cost

~ (C) Monetary cost (D) Economic cost

45, ETAR aforaedr § ‘w1 IaeA fear WY, e Pl s s } 2

(A) A ST ygf «maEd
(C) ®ER | (D) ¥W & Hg T

Who decides 'what to produce' in a market economy ?
Market mechanism

None qf these

{A) Planning commission (B)
e (C) Government (D)
36, R W 1 A @ 2
T e R D, e aem Al

B) are Rrad gra Far-faskar @9k 7 € 8 B

(C) e wifin 9éa

(D) A of
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What do we mean by the word ‘market’ ?
(A} Place like a square, local market etc.
(B)  Means by which the buyer and seller are in touch with each

other like phone

{C}  Online shopping portal
() All of these

- A § Ff arefermen § >
- (A)  Tafye artemen (B) dAomrag rdemee
(C) =9 arefemaeen (D) T A FE T
What type of economy is in India ?
(A) Mixed economy (B) Planned economy
(C) Market economy (D) None of these

39.

a@ﬁnﬁ-ﬁﬂmﬁamwﬁﬂ&mmmmﬁmm%?
(A) HHRIES IS C(B) _ =afy st

(C) e i D} (&) 3R (B) It

Under which of the following is the price determination of goodé by
demand and supply studied ?

(A)  Positive economics (B) Microeconomics

(C) Normative economics (D) Both (A) and (B)

%aaﬁwamﬁmﬂmﬂg@aqﬁ:%fmmmﬁﬁw
g e

(A T srfeEen (B) F=hFa anfaxaw
(C) YSErd smeimEen (D) T & B Tl

In which economy are the resources allocated for happiness and
prosperity of the whole economy ? |

(A) Mixed economy (B) Centralised economy

(C) Capitalist economy (D} None of these

24 /A/XII-5013-@7/40 Page 12/ 3%
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43,
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e T & HHE ple+p2x2:M.ﬁ Py pgwt?

A THIEIG2HE (B T 1T w2 A
(C) I H A (D) ¥ @B T

In the equation of budget line p,x, + PyX, =M, what are p,, p, ?
(A) Prices of good 1 and good 2

(B) Quantities of good 1 and good 2

(C) Income of consumer

(D) None of these
ﬁﬂﬁﬁf&?&ﬂtaﬁ@mﬁ%mmﬂrﬁamm% ?

(a) M (B I .

c Faw oy wHawh

Which of the following variables is defined for a time period ?

(A} Income (B) Consumption

(C) Investment (D)  All of these

B § 3 ovfemmen R R R 2

(A) vET | B) HEieE F EE

(C) U, ag, THIE BT ol & wh—"

Which of the following is capital of economy ?

(A) Building (B) Office place

(C} Road, bridge, airport (D) All of these
wmﬁﬁﬁqﬂag-@%maﬁwm% ?

(A)__ ua Faw - (B) frae faaw

e o) A il T

What is the adjustment for routine wear and tear of capital goods
called ? ,

(A) Gross investment (B) Net investment

(C) Depreciation (D) None of these
e Il H A B B . &

(A) ARl | (B) AT

cy Jut () wHaWh

-
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Who purchases capital goods ?

(A) Consumer (8) Businessman

(C) Entrepreneur (D) All of them

et =t & e aegelt ) whied 6 g Peed IR ¥ 2

(A)  PEha (B IAE

© vfa (D) T & wg T

From where does a man get the ability to purchase goods ?
(A)  From capital (B) From income

(C) From land (D) None of these

W e ¥ oM % add vag § @ % FRH B AN e
Y ?

(A) qfER &% (B) WHNR 4FF

€ fdw s (D) & =

Who demands the factors of production in circular flow of income
of simpié economy ?

(A) Household sector (B) Business sector
(C) Foreign sector (D) None of these

- Jdferaey # aRER & g Re T = T e € 0
(a) . fraw = B W =
(C) umE =g - (D) fraia ==

In an economy what is the expenditure made by household sector
called ?

(A)  Investment expenditure

*

(B) Consumption expenditure
(C) Import expe?pditure
{D) Export expenditure
&1 IaaTea WhH H et aegant &1 Ium s § 2
AT e HIA (B) weradt sl
c) 3ifm awgd D) (A) 3 (B)
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CJ 3201

What kind of goods does a firm consume during the process of
production ? ' '

(A) Raw material (B) Intermediate goods
(C} Final goods (D)  Both (A) and (B)
49.  wHA Hed AfUA - A = Praet e aftfa, st a7 2 2
{A) T B (B) &g aftfa
(C) W &l faght (D) ¥ § ¥ 7
In Gross value added - A = Net value added, what is A ?
(A} Depreciation (B} Value added
(C} Sale of firm {D) None of these
50 e wehet wie] Ierg Y o e it o o et 2
o {a)  TauH $dl W - B)  uR 9§ fdl W
(€) Tor it W (D) ¥ & w7
Nominal gross domestic product is measured at which prices ?
(A) At current prices (B) At base year prices
(€} Atconstant prices (D) None of these
51, 9f} 2023 F1 IMEN ged guhis daR fea o @ @ fred g B gem
2010 % Hiwal § $t I, @ 2023 T 2010 FAN: W E ?
(A) TER FH, o] 9% - (B) =, wreq ad
—e) =i 9d, amur T (D) muR Y, IR ad
If consumer price index for 2023 is being prepared in which prices
would be compared with 2010 prices, then what are 2023 and
2010 respectively ?
(A) Base year, current year
(B) Current year, current year
(C) Current year, base year
(D) Base year, base year
50§ 2020 F I oA gEEHH M FA F, W S @ A I A
wraft ?
() adHe oY | (B) ¥MUR T
(C) 2023 (D) 1947
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|
' prices of which

For preparing consumer price index of 2020, the
vear would be used for comparison ?

(A}  Current year (8) Base year

(C) 2023 D) 1947 |
53. aﬁwhmmmzﬁmmmu@amﬁmﬁﬁt

Ryt & ww Frae sre g = a0t 2 ‘

(A) TS (B) AT

) = (D) A Hd T

If a country's gross domestic product is greater than its gross
national product then what would be the net factor income earned

from abroad ?

{A)  Negative (B) Positive

(C} Zero (D) None of these
54. a3 S =-ATAT W - Z ?

(A) Z=TT9 W (B) Z=39gH

) z=-Fmw D) T A A

Net Indirect Taxes = Indirect taxes - Z ?

(A) Z = Direct Taxes (B) Z=Factor

(C) Z= Corporation Tax (B} None of these
__55. TR W @ Ay frme T R 2

AK] FIGH H (B) YEE I &
() T W O) AW
Cooking gas { LPG ) at lower rate is an example of
" (A) Subsidy (B) Direct tax
(C) Indirect tax (D)  None of these
st it & e R 3 rem & w9 § arhifies whewd b 2
(A) U By

) y-"f (D) Tty ye
24/ A/XI1-5013-@7/40 T Page 16 /
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Which of the following mecans of exchange has universal

acceptance ?

(A) Bond (B) Gold

(C) Land Asset (D)  Legal tender

yen gfg @ S8 Heaarr & ferg gz1 ) wfn # @ feda e
(A) &g B) T

) fer e (D) %A of

What would be the change in demand for money for transaction
purposcs due to rise in prices ?

(A) Increase (B) Decrease

(C) Remain constant (D)  All of these

wrckr Ford 3 Bz A O % defers Al § M) wA ah 0o R 2
(A) i A 3R fas (Co)

(B)  ®im 3@ (DD)

(C) oW wua A% 1§ = Jund

@) (A) 3 (B) I

Of the alternative measures of supply of money by Reserv

India which is the correct component of M1 ?

e Bank of

(A) Currency note and coins (CC)
(B) Demand deposits (DD) ¢ Ao

(C) Savings deposit in post office savings bank

(D) Both (A) and (B)

mmﬁ'ﬁﬂmﬂﬁr@lm%?
A maEfy S @ (B) &=d w1 @l

Time deposits are kept in which account ?

(A) Term Deposit Account (B) Savings Deposit Account

(C) Current Account (D) None of these
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60. ufX w& cu A afk s DD@?I’(WWWWW?
(A) CU/DD (8) DD/CU
() DDxcU o) e a
If currency is CU and deposits is DD then what would be currency
deposit ratio ? |

(A) Cu/DD (8) DD/CU

(C) DDxCU (D) None of these
61. sheifrea i ¥ wal 61 qff aw Pew i R wR 2

(A) Wt IR B) e 3

(€ T IR (D) T & =¥ T

Due to technological progress, in which direction will a ﬁrma
supply curve shift ?

(A) Leftward (B) Rightward
(C) Upward : (D) None of these

62. Hiwia WA Wk N wiadt S T H Rew Ry wowea & 2
(A) =W R W (B) =yiamfag W
(€ Frdguaved (D) 3o gQ @vs i
The marginal cost curve cuts the average variable cost curve at?
which point ?
(A) Highest point (B) Minimum point

(C) In declining pqrtion (D)  In rising portion
/éﬁ./ o= % &1 o6 ISR A U F AWK W AT R

(a) T o arm (B) T w T
AC) FadfEd e aE By TR

Which of the following curves is of shape of English letter 'U' ?

{A) Total fixed cost curve

(B) Total cost curve

(C) Total variable cost curve

(D) None of these

24/A/XI1-5013-137/40 ~ Page 18/
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(q TE S T F W) - (g - 1 Fhif I R FA AM) = 2
(a)  dNwa AT B) dmia v
) ferarma | D) ¥ & HY

( Total cost of g units of output ) — ( Total cost of g - 1 units of

output } = ?
(B) Marginal cost

None of these

(A)  Average cost
(C) Fixed cost | (D}
i @A T @ mgmwaﬁmm%aﬁ% ?
(A) IR UIHRH (B) x-3T8 % WA

(C) IR 'S AERH By il & wiE T

Marginal cost curve and average cost curve, both are of which

shape ?

(a) Inverted 'U‘; shaped (B) Parallel to x-axis

(C) Inverted 'S’ shaped ' (D) None of these

af @it S § e(e>1) T g A & Rred e o ¢ T WG AT

NPT FEAE?
@) o dmm w1 aRea B) wdA WA %l Sfawe

"tcp s o yRwe (D) W A g Tl

If all inputs are increased t(t>1) times such that output also .
increases t times then what is this called ?

(A) Constant returns to scale

(B) Increasing returns to scale

(C) Diminishing returns to scale

(D) None of these

HW-TTAH I B t:1r=41|:-1°‘>r<.’4:2B ﬁ‘ﬂﬁﬂa-&[}}l,ﬁ'ﬂsw Tt ¥ ?
) RrIAwIREE  (B) TR R W sRe

€ wEmtmEsRes (D) W B
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68.

70.

1.

326

) a B e +R. ;
In Cobb-Douglass production function g=x," xx,", if a+p>) . thcn;

p

what doeg it show 7

(A} Constant returns to scale
(B) Increasing returns to scale
(C) Decreasing returns to scale

(D) None of these
%%mwwmm= ?

A} Hara s (B) R awma

€)  $= ofadt srmm (D) ¥ & wrd 7

At zero level of output total cost = ?

(A)  Marginal cost (B) Fixed cost

(C)  Total variable cost (D)  None of these
.

(A)  ted avg (B) Hm@ s

(€) T aiEdf e D) W & % a

ATotal cost/Ag = ?

(A)  Average cost (B}  Marginal cost

(C)  Total variable cost | (D)  None of thege

FeTHE Jud R o 9% 6 T w1 a2 o

(A) HEuTHS (B) e

© = D) i J 3 7

What is the slope of short run average fixed cost curve ?

(A} Negative (B)  Positive

(C) Zero (D)  None of these

HEHR m%ﬁmﬁﬁﬁﬁ%mwmt ?

(A) wft @ fte (B) Tl Wt anferes

(C) s Sl = YA (D w9

20/%
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what does the government do to change the distribution of
income ?

(A) More taxes from the rich

(B) More expenditure on the poor
{C) Provision of public goods

(D)  All of these

72, Y@ wiEmi S aed @ ag F 8 ?
(K) SR B9
(B) Y ==
(C) drEwr IuHAl & R i fish 3 3|
(D) ¥H & &
Which is the most important head of capital receipts ?
(A} Public debt
(B)] Small savings
(C) The income from the sale of shares of government enterprises
(D) None of these
73 TNy A w T RE e
a) Toiadafg (B) I UK W JTH HAT
€ A g Coupr wEaweh
What is the main objective of fiscal policy ?
{A} Increase in output
(B) Achieve high level of employment
(C} Increase in income
(D) Al of these
74, W0 Y OE FOE 2
A ~C AY
(A A¥ 1——cc B) 1 1.‘:
C) T (D) sﬁ q ¢ T
What is government expenditure multiplier ?
Y _ -c AY
A) ir I-¢ (B) AG“ll
. (€) One (D) None of these
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| 3261} |
75, | W s %1 A T d .
A) = B)
© = D) it & Fif
What is the value of balanced budget multiplier ?
{A)  Zero (B) One
€ Two (D} None of these
T R el i L1 11%-11 ?
A =33 (B) W Q |
HE) W P wEIwh
Due to which of the followmg there would be burden on future
generation ?
(A)  Expenditure (B) Tax
{C) Debt (D) Al of these |
77, iRl 3 @, o, s I w1 wa-fawg =1 fya ﬁmmﬁﬂ
By | |
(A) S @ “B) Ot wm
(C) amfa @ D) T A wré 34

bond ete. are kept in which account ?

(A}  Current Account (B)

Caﬁital Account
(C}  Reserve Account (D) None of these
_ 78 fufim o ¥ ne v & v w0
4 ®)  ffa
© ¥ fam D) i A 9 7
What will decrease due to exchange rate dépreciation ?
(A} Import (B) Export

(C) Capital investment (D) None of these

24/A/X11-5013-(37/40; | /-
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79.

80.

81.

82.

[ 326 ]

gelt arfegaeu 1 agen 0 g ?

A) Y=C+I (B) Y=C+I+G

(C} Y=C+I+G+X-M (D) T & w9

What would be the equilibrium of open economy ?

(A) Y=C+1 (B} Y=C+I+G

(C) Y=C+I+G+X-M (D) None of these

o F #)9 w3T R, @memamﬂw ?
(A) TE e W (B) W8 ST H I |
() o s § (D) T @ w7
Which is larger, the multlpher of open economy Or the multiplier of

closed economy ?
(A) Multiplier of open economy
(B) Multiplier of closed economy

(C) Both are equal

(D) None of these
mmﬁnﬁammm%mﬁq&ﬁmamW

% g it @ & ?
() froae s @ ) e
_[C} for wdt } (D) T A P
then increase in use of one input

f other inputs are constant

causes what changes in marginal output ?
(B) Itincreases

(A) It decreases
(D) None of these

(C) It remains constant

amﬁﬁmmﬂﬂzﬁmﬁ%mwmmgw
wgea & ? |

(A) THITR T B) IAREE

(c) —wHwa (D) T & w7

What is the se¢t of combinations of two in
puts which
equal level of output called ? produces

(A) Isoquant curve (B) Indifference curve
(C)__ Isocost curve (D) None of these
24/A/XI11-5013-(37/40) "~ Page 23/ 32




83.

85.

(326}
B & frm s € w9 At 3 -ofeafta fem 1w R 2
{A) =M (B) =1 O
(C) wfts (D) ¥ g avfl

Quantities of which of the following inputs can be varied in the
long run ?

(A) Labour
{C) Machine

{B} Raw material
(D}  All of these :
HiTa @ A S 56 Y R g o 2 o

(A) = fag w —B] = fag

© "= fagw D) w5 & o 7

At which point does marginal cost curve cut the average cost
curve ?

(A) At highest point (B) At lowest point

(C) At mid- point (D)  None of these

ﬁmm%mﬁﬁm&mﬁqﬁaﬂqﬁwmm%?
(A) ﬁt@wﬁaﬁm%mﬁ

B) Hmia 3R shwa I F v

(C) ¥ 3 Fo e % o

(D) & = =t

In the law of variable proportion, which Proportion is varied ?

"{A)  Proportion between ﬂxeg:l and variable inputs
(B) The ratio between marginal and average products
(€)

The proportion between marginal and total products
(D) None of these

| —
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If there is an increase of t times in factors of production as a result
this be called ?

of which output increases t times then what will
Increasing returns to scale

(A)
(B)  Decreasing returns to scale
() Constant returns to scale
(D) None of these
i—?%ﬁq&ﬁé,wﬁmmmwﬁmm
2
(a) G o 2 By~ frme st
© e o) WA
e beginning what change

input increases, in th

As the quantity of
hort run marginal cost curve ?

takes place in the s

(A) Increases (B) Declines

(C} Remains constant (D) None of these
frey & & F iR W@ 2 ?

(A) sfrgq aftadf 9P = e
it = it Rl A x

@) T afad
Fd A
) @@ =g
D) THE ot
Which of the following equations is correct ?
_ . Total variable cost
(A) Average yariable cost = Output
(B) Total variable cost = Average Variable Cost x Quantity
Total cost
(C} Average cost = -*“‘"“"‘q

(A} dimiq @ B D€

M{.Byw;ﬂqiaamaaﬁaﬁmamﬁﬁaﬁ

(C) snniﬂamaﬁf@namawaa
i @ w

——[23/A/X11-5013 g4
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90.

w91,

92.

AB)  welt siengfeat w1 e wom

I 326

F « .urve at its minimum
Which of the following curves cuts which ¢

point ?

(A) Marginal cost curve cuts Total cost curve
(B)  Marginal cost curve cuts Average cost curve
(C)  Marginal cost curve cuts Fixed cost curve
(D) None of these

T 1 A G wE F A SR R P

(A) e wrE B) 3iea giad! v

(C) —gFam twa wE (D} ™

What is the difference between firm's total revenue and total cost ?
(A) Marginal cost (B) Average variable cost

(C) Minimum average cost (D) Profit

¥% % I T ST I T T S W W A h QRN ;P
(A)  fes Bt 2 (B) =t Bt R

(C) w9 &t 2 (D) T A+

As compared to the rate of interest on deposits in bank, the rate of
interest on loans is

(A) more (B) equal

(C) less ' (D) none of these
u&ﬂa&hﬁﬁmﬁﬁmgmﬁqﬁm%ﬁaﬁwm?
(A) aHR gfenyfaat &1 g wum

(C) he ImfEra arquma & gfg wem
(D) T @+ T

What will the Reserve Bank do if it wants to increa

se high pc"*'*"‘ﬂ"’d
money ?

(A)  Will purchase government éecurities
(B)  Will sell government securities

(C)  Will increase cash reserve ratio

(D) None of these

e A e B R P 0 T
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93.

94.

96,

[ 326 |

IO HF C=C+cY & c 7§ 7

(A) % - (B)  =grem fram ara g
(C) & Iuam (D) wHawh

In consumption function C =C+cY,whatis c ?

a) 2%

(B) Minimum subsistence consumption

(C) Autonomous consumption

(D}  All of these

fre & 2 o ot wie T # 2

(A) =R (B) ¥ad

) uSHE (D) W

Which of the following is not physical capital stock ?

(A) Machine (B) Buildings

(C) Roads. (D)  Fruits

v =T+ T+G+ ¢ (Y-T) § B-F7 TEd wE?

Ay C ® I

© G (D) T e

n y=C+ T+G+ € (Y—ﬂ, which of the following is autonomous
term ? _

a C ® I |

© G (D) Ali of these
a5 o C:E-ﬁ-cYﬁ cﬂﬂﬂﬁ@mg?

T sk bl (B) T
) THIF o) FEIW
onsumption function C=C+ cY?

What is the valueof ¢ in¢
(B) Equal to one

(A) More than Zero
(C) Lessthan one (D) All of these

Page 27 / 32
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98.

99.

|326]
aft i i s s 0 1 s 1 7
A |\ B 1
(C) 1000 (D)

If the marginal propensity to consume is equal to one then why :

would be the value of multiplier ?

(A)  Zero @) 1

(C) 1000 (D) Infinite

Tt gt fagia i 450 Y@ #n oo @ ?

(A)  Y=aD (B) AD= AS

(C) W9R FgeH @ D) TH @t |
In the theory of effective demand theory what does 45° line show?
(A) Y=AD (B) AD=AS |

(C) Market equilibrium line (D)  All of these

3 diwia w=a ygft 95 S @ w90 6w § w= aieds w2
(- wgh B Rrwf

(€ weh D) w3+ &

If the marginal propensity to save increases then what woul#‘
happen to quantity of savings ? | :

(A) Would increase (B} Would remain constant

(C) Would decrease (D) None of these

R aftal 1 afomm o Pftea Fer g T Y et &y weer 2

(A) V&= B) wEw= |

c fm= ) wEIDE J
w

What are the variables which are defined at a particular point

time called ?
(A) Stock variables (B) Flow variables

(C) Constant variables (D} None of these

Y
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10.

Q-8 arferaeen # wge € T v & o

What are the conditions for equilibrium of two-sector economy ?

WU F AW ¥ T 1w f p 2
::What do you understand by burden of debt ? .

TR ureT F & ? " 2

What is revenue deficit ? .

ot wfereatdt &+t S wiewnes w5t w2 2

Why is perfecﬂ; competitive firm called price taker ?

TSR Hge aﬂ fafa i) 2

Draw the market equilibrium. |

TR AR 6 @ Rvasdi w1 gle § a5l 2

Describe two characteristics of a monopoly market in brief,
o aeg *n & P e ,

What is complementary good ? Give examples, |
¥ar wir 5% Rfa St Rk S sin N T e = 1 W

2
Draw a demand curve whose price ¢lasticity of demand e = 1.
g fra @ F= R ? ,
What is price elasticity of demand ?
-2 F forg gz i ubn &1 wieo ford )

Write the equation for transactionary demand for money.

24 A/ X11-5013-37/40)
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11,
12.
13.
14,
15.
16.

17.

¢

; [326)
att am ) qhonf o . 2
Define demand deposit. ] |

5 Rl =i =) ey wiy e e 2
By which process does bank provide loan to a person ? |
STRE W S P w 2
State the law of diminishing marginal productivity.

IMEa laelt A am R w1 2
Draw average variable cost curve. .

Tt sforeaell ot Y e Y = R FUUET 2
Show the price line of a competitive firm with the help of diagram.
T NIFiAE W ¥ o 2w d o B 2 o | 2
Is a country rich in natural resources prosperous ?

 =iw = v A v = F T R 2

Write the names of two stock variables and two flow variables.

TR sm o § S e yeraR £ -

2
What do you understand by investment ? How many types of
investment are there ? https://www bsebstudy.com |
Frfwre i uft & ana v wweR # 2
What do you understand by land in economics ?

- wrefae # st STt % @ I # 2
What are the uses of natural resources in economics ? |
afvaw menidt o = AT A1 ? o 2
What happened during global depression ?
ﬁﬁmz{aﬁmaﬁtéﬂ%m#mﬁt 2
Define exchange rate in terms of rupee and dollar,

TR °1RT @ T F1 woe ¥ 7 2

What do you understand by trade deficit

24/A/X11-5013-37/45)
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G

2, W SR R w2 2
What do you understand by open economy ?

)5, W9 e W ahonfe st 2
Define budget line.

20. Jovre aftme @ W fafie &t 2
Draw consumer indiflerence curve. B

y7. Wi weR R 7 vy
What is demand function ?

28. mWaﬁdﬁMﬁaﬁﬁmﬁml 2
Write in brief two characteristics of market ;e(;oggmlyw

29. Jeqre GWTET a9 w1 At & 7
What does production possibility curve show ?

WW?&W%WWW@?' , 2

30.
gis 7 ‘

what do you mean by positive economic analy

i 3t WY / Long Answer Type Questions
v wEdr 31#33%3‘?&‘3??9?”?#:%?4:###3&?# | gRT F
a%msaiarﬁafﬁ#hmmm 100-1207ET d & : 4 x5 =20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. Answer in 100 - 120 words each :
4 x 5 = 20)

waﬁﬂﬁ_mﬁiﬁmmﬁwﬁm%?mqm 5

31.
Does increase in gross domestic product show an improvement in
public welfare ? Explain.

a2, W%mmmﬂmg?mﬁmﬁﬁ, i
what are the important functions of money ? Write wif:h- exam 1

va.  foatn % e ) S LT T

radox of thrilt.
24/A/XI1-5013-7/40) -
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35.

36.

37.

38.

[ 326 |
I w1 3 g wo i wm gay 2 sren Hi 5

What is the relationship between government deficit and
government debt ? Explain.

I T H GO IR Hge W g 5
Show consumer's équilibrium with the help of indifference curve,
$o @R, Wi 9w siea aea = Rl g el S

Show total cost, marginal cost and average cost with the help of
diagrams.

s wioeadt wil % v stitresafiestor w1 i gro s S 5

Clarify profit maximization of a competitive firm with the help of
diagram.

v Fruffe s 6t Ay = frr g i) 5

Show the minimum support price policy with the help of diagram.
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